
Year 5 Homework C – 13th October 2023

Multiplication 

9 x 3 = .

10 x 3 = .

12 x 3 = .

3 x 3 = .

4 x 3 = .

6 x 3 = .

3 x 12 = .

7 x 3 = .

3 x 2 = .

1 x 3 = .

11 x 3 = .

3 x 5 = .

Addition and Subtraction

Perimeter

Remember to also have a go at TTRS, 
Spelling Shed and Lexia (if you have it)! All 
links are on the class page.

Forgotten your login? Let me know!

Use the fact that 4 + 5 = 9 to 
solve the following additions.

Time
Number these 
times from 
earliest to 
latest:

What is the perimeter of the rectilinear 
shape?

Remember: To find the perimeter, we 
need to add all of the sides together.
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